SEmEAB/NI3FEFREESSHEREAE

BE BRRE

= F4 % IJEH:60m TEE 4R 1
BXR 1 2 3 4 5 6 7 8
DEAREESR | 30116 30220 30322 30420 30518 30620 30719 30822
% St | EE& | BT | B5TE T4 MERE | MEEY | EARE
AR
= F4 & I1EB:60m TEE ARl 2
BR 1 2 3 4 5 6 7 8
DEAREESE | 30917 31022 31114 31216 31316 31415 31515
% MERE | THE | ZERISE | BREYT | UM | B | ERa
“ZR
= F4 % JEH:60m TBEE #BA): 3
BR 1 2 3 4 5 6 7 8
DEAREESR | 30120 30224 30324 30424 30524 30623 30722 30826
% ToRE | Em | BERH | MR | B | BEE | KB | RER
BN
= F4k 2 IEH:60m BE ARl 4
BR 1 2 3 4 5 6 Vi 8
DEAREESE | 30920 31024 31124 31218 31317 31423 31522
% BELE | EIH | MEH REEE | Mimst | FEfr | S

BR




